o CAR

y/// RACING SERIES
RACING-MRA-6M9P

MEUBLE DE RANGEMENT
ATELIER 6 MODULES @ PIECES

—




COMPOSITION

NO. | DESCRIPTION  |QTY.
A M5X20 8

M6X1 6 |116

24

%g.

ONENOBNNG

OUTILLAGES RECOMMANDES




M6X16 |32

1




M6*16 |12
M6 12

—
20

_’}E- * _q_c\:.ﬁr * = 9
) N [y \
4 =)
= = oo o o

\s

m M6X16 | 12

N |—







.............

..................

................ e ——

I.’—.uw




fmmw | ve*1s |8

(@) M8 |8

1] (uu | M6*16 [12
2| © M6 |12
= =







	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

